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Solve the following word problems. 

1) 8kg 250g of mangoes were put in a box. 

There are 75 mangoes in that box. What is the 

weight of each mango? 

2) There were 35 poor children sitting in a 

room. Each child was given 455 grams of rice 

to eat for dinner. What is the total weight of 

rice that has been distributed among all the 

children? 

3) There are 80 big bars of chocolates packed 

in a box. Each bar of chocolate weighs 375 

grams. What is the total weight of all the 

chocolates in the box? 

5) Michael went to the market and bought 9 

loaves of bread. They weighed 1 kilogram and 

665 grams in total. What is the weight of each 

loaf of bread? 

4) A sack is filled with 15kg 500g of wheat. It 

has to be divided equally in 5 small sacks. How 

much wheat will be put in each sack so that the 

big one is completely empty? 
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1) 110 g  

2) 15925 g / 15kg 925g  

3) 30000 g / 30 kg  

4) 3100g / 3kg 100g  

5) 185 g  

 

ANSWERS 


